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Instructions for the candidates :-

1.

wRiendi OMR STR—UAS WR AYAT U GRIDT HHID (10 bl PI) fdeY
fored |

Candidates must enter his/her Question Booklet Serial No. (of 10
Digits) in the OMR Answer Sheet.

RIeeft e 3o vreal H SR < |

Candidates are required to give answers in their own words as far as
practicable.

SN IR RRA R &Y gY &id Yunies ffde &vd 2 |

Figures in the right hand margin indicate full marks.

gedl ®I SAMYdd Ugd & oy weneal &1 15 e @1 AfdRed |\
feam T 2

15 minutes of extra time has been allotted for the candidates to read

the questions carefully.

IE YT—YRAI®T T US| H § : WUS—3 Ud EUS—1 |



This question booklet is divided into two sections : Section-A and
Section-B.

Gus—3 H 100 IS U g, NFH 9 B 50 T B SR <Al
fard 21 50 Ul A SIF P SR < W ULH 50 BT &1 &b BT |
g% B oy 1 g FMuiRd €1 g9@1 STR o & U SUelel a1 Y
OMR SR 931 # fau U 981 fAdey & Il / &It dfdd U9 9 W%

| fHA A UBR B gReR / Rd wel [/ wl€ / ARGA SMfc HI
OMR SR UF& H JART HRAT 741 &, 3T YRV S 81 |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions are
answered, then only first 50 will be evaluated. Each question carries
1 mark. For answering these darken the circle with blue / black ball
pen against the correct option on the OMR Answer Sheet provided
to you. Do not use Whitener / liquid / blade / nail etc on OMR Answer
Sheet, otherwise the result will be treated invalid.
Yus—g H 30 g SR U ©, ISP b oY 2 3fd FuiRa g, 5 9
=l 15 U BT SR 1 a2 39 SffaRad 39 Wos H 8 e

SR yed Ry U €, ue U @ v 5 o fuiRa B e 9 e
4 FIAT BT IR <7 3ifard 2 |

In Section-B, there are 30 Short answer type questions, each

carrying 2 marks, out of which any 15 questions are to be answered.



Apart from these, there are 8 long answer type questions, each

carrying 5 marks, out of which any 4 questions are to be answered.

8. ¥l UBR & Seldei-h SUBRUT BT IUANT YUl dferd ¢ |

Use of any type of electronic device is strictly prohibited.

TYus—3d / Section-A

geqf~ss 934 / Objective Type Questions

9T T 1 I 100 db & IAd Y99 & A1 IR fdbey fou v €, 94 9 ddd T

HE T | AT ERT g4 T R fAFed 1 OMR—SwR gRas wR faftead &1 | fagl 50

gl BT & SR ¢ |

(50x1=50)

Question Nos.- 1 to 100 have four options, out of which only one is correct.

You have to mark, your selected option on the OMR- Sheet. Answer any 50

questions.

1. e &1 /1 e ® ?
(A) 1
(C) \TH=T
What does macro mean ?
(A) Big
(C) Medium

2. e anfdfe Uoie &b § ?
(A) SATGAHA!

(50x1=50)

(B) BreT
(D) 374 ®ig &I

(B) Small

(D) None of these

(B) SuTaar



(C) AT (D) 37 &+
Who is individual economic agent ?
(A) Producer (B) Consumer

(C) Worker (D) All of these

MY NPT & S d © —

(A) T e (B) it

(C) fasy I (D) e

The father of modern economics is -

(A) Adam Smith (B) Marshall

(C) Vishnu Gupt (D) Amartya sen

ST BT BRI FAT BT § P

(A) BH BT HaTer (B) S&™ ¥ s SReH o
(C) IoM @1 qfef e (D) g7 =Y

What is the work of an entrepreneur ?

(A) Management of firm

(B) To bear the risk associated with enterprise.

(C) Supply of capital

(D) All of these

T &R (o) W 59 & Ha—fasha g1ar g, S 7 $ad © 2
(A) sarst (B) s

(C) TR (D) &=



What is the rate (price) at which labour is bought and sold called ?
(A) Interest (B) Profit

(C) Wages (D) Rent

FARE 37 H MM T QT BRI dlel HIF & 2

(A) x5 (B) Fenfie e o R Rord d@
(C) dufadd fAotaandr (D) ®aat (A) 3R (B)

Who performs economic role in macroeconomy ?

(A) State

(B) Statutory body like Reserve Bank of India

(C) Individual Decision maker

(D) Only (A) and (B)

ST B Yolardl el &l AT T8l & ?

(A) e &1 ol w@nfia (B) 9TR 3eferaern

(C) ST ST (D) @™ & forg IeareA
Which of these is not a characteristics of capitalist economy ?
(A) Private Ownership (B) Market economy

(C) Planning (D) Production for profit

S8 B ISUTET BT BRD & 7
(A) TRDR (B) g1
(C) =iy 9% (D) =4

Which of these is a factor of production ?



10.

11.

(A) Government (B) Money

(C) Central Bank (D) Labour

T BN aIRAR® &b BT B 2 ?

(A) Mg I1fTT HRAT (B) 9ad @Al

(C) ®R 37T BT (D) 7 & |+

which of these is function of household sector ?

(A) To earn income (B) To save

(C) To pay tax (D) All of these

HATEA FU~ ABIDT 3R lfeT FRBT & T2l & favy 4 w1 |el © ?
(A) 3 FId Ho= & (B) ¥ |&Ry T &

(C) I 9 A= &, 4 fau= g (D) ¥ | 3T dTel < &
What is true about the resource rich African and Latin American
countries?

(A) They are most rich (B) They are poorest

(C) They neither poor, nor rich (D) They are middle income countries

IATS BT Jdig dd II~ Bidl & ?

(A) FATEH YT R (B) GG BT SYART TRD

(C) IR aTaTaRel g1y (D) S99 |+
How is flow of output created ?
(A) By acquiring resources

(B) By using resources



12.

13.

14.

(C) By creating business environment

(D) All of these

3 IUFTFAT gIRT T DI ST dlell g%, 9T heallil & 2
(A) ST g (B) Hofrrr agd
(C) wear Hret (D) 37 ®I1g el

What are goods purchased by final consumer called ?

(A) Consumption goods (B) Capital goods

(C) Raw material (D) None of these

T B S SUHRT aTell ITFIHRTT I & T IRl WUICRYT 81 81 Fahdll?
(A) ®urs (B) &mm

(C) dusT (D) ISt

Which of these is end use consumer good which cannot be further
transformed ?

(A) Cotton (B) Thread

(C) Cloth (D) Shirt

UoiTd a¥qall & Ioqred H IR 4, Iuladl a&gall & Idrad H a1 uiadd
BITT?

(A) 9fg &rft (B) &+ g1

(C) ®1E uRad= =&l 8 (D) 37 ®I1g el

What would happen to output of consumer goods due to enpansion of

output of capital goods ?



15.

16.

17.

(A) It would increase (B) It would decrease

(C) There would be no change (D) None of these

Adhel ERe] ST (GDP) @ ol & fory &g fafdy &1 o aHiavor w8 € 2
(A) GDP=C+S+G+X (B) GDP=C+I+G+X

(C) GDP=C+I+G+M (D) GDP=C+l+G+X-M

For calculation of Gross Domestic Product (GDP) by expenditure method,
which of the equations is correct ?

(A) GDP=C+S+G+X (B) GDP=C+I+G+X

(C) GDP=C+I+G+M (D) GDP=C+I+G+X-M

Ife TRBR 7 Bl AR facsh R 7 81 did G=T=M=X=0 T FHHI (I-S)+(G-
T)=M-X & fTT &I Hoq 9 2 ?

(A)1=S (B)

M

C)I1=G D)I=T

If there is no foreign treade and government that is G=T=M=X=0 then for
equation (I-S)+(G-T)=M-X which statement is correct ?

(A)I=S (B)I =M

(C)I=G (D)I=T

Ahel BRe] SUIE & Db H Holgyl, &I6l, oM Ud o= &l fbg fafs grr
ST ST & 2
(A) =3 fafg (B) Scure+ fafer

(C) s fafey (D) 4 ®Ig &l



18.

19.

In valuation of gross domestic product, by which method are wages,
interest, profit and rent added ?

(A) Expenditure Method (B) Production Method

(C) Income Method (D) None of these

A & agel ydrs H, AW Icrfed AfH awgell vd Farel W fhar A &y

e SRR BIdT & 2

(A) PRE &R &

(B) T Iaurfad sifcd avgeil vd Harll & Jod &

(C) o™ &

(D) (A) T (B) <t

In circular flow of income, what is expenditure made on all final goods
and services equal to ?

(A) Factor Payments (B) Value of all final goods and services

(C) Profit (D) Only (A) and (B)

(BH & IR BT oI — BH gRT UG Hegexil aegall bl o) fhad armEr
BT © ?

(A) BH & Jeuaidd (B) FFraet Heaafda

(C) Feuma (D) 374 ®Ig &l

What is (the value of firms output - value of intermediate goods) equal
to?

(A) Value added of firm (B) Net Value added



20.

21.

22.

(C) Depreciation (D) None of these

I U 1S BT Hed 50 BUI © 14 25 B0 I BT g, AN & wd H IUANT
fhaT T 7, A1 9 BT IS & Icdred H gt AR fhds I 7 ?

(A) %0 25 (B) ®0 75

(C) %0 50 (D) ®0 100

If the price of bread is Rs. 50 in which wheat worth Rs. 25 has been used

as input, then what is the net contribution of baker in production of

bread?
(A) Rs. 25 (B) Rs. 75
(C) Rs. 50 (D) Rs. 100

Fhel BN IUTE = ? + JoIBTd

(A) APl TR SIS (B) faeT &ve] ScuTe

(C) frraet Heuafdia (D) 57 g &l

Gross Domestic Product = ? + Depreciation

(A) Gross Domestic Product (B) Net Domestic Product
(C) Net Value Added (D) None of these

2023 & g JAdId & foIY @Te a9y I B8R ?

(A) 2020 (B) 2021

(C) 2022 (D) 2023

For preparation of Price Index of 2023, what would be the current year ?

10



23.

24.

25.

(A) 2020 (B) 2021
(C) 2022 (D) 2023
AH Aod GADIDh H Hd I & Hod Bl A AT S1ar g 2

(A) SUHTERTT U (B) GaxT 9rGiR H a1 arell avqy

(C) o1® IR ¥ &= arell gy (D) S @IS 2l

Prices of which goods are included in Wholesale Price Index ?
(A) Consumer goods

(B) Goods sold in Retail market

(C) Goods sold in whole sale market

(D) None of these

W] W1 B faid giota wl Sifdw awg Ud darell & Jed b1 T @

HEATT & 7
(A) frael =Re] SeUTe (B) ¥l NI IATG
(C) faa1 Iy 3aure (D) Hehel BN ST

What is the aggregate of prices of all final goods and services produced
within domestic boundaries called ?

(A) Net Domestic Producat (B) Gross National Product

(C) Net National Product (D) Gross Domestic Product

\WaN

Hlfad Hdbel HXe] Sl Uq qrIdd Ahel gXc] SUlG Pl FAJUId ddT D cdldl

g7

(A) a1 wIfd (B) Wehol TR IeUTG ITaemhIfcTh

11



26.

27.

(C) SUMTaT Hvd Jadid (D) 37H B &I

What is the ratio of nominal gross domestic product and real gross
domestic product called ?

(A) Inflation (B) Gross Domestic Product Deflator
(C) Consumer Price Index (D) None of these

afe Jufdds omy # Jufddd R Ud IR—P) SIS (ST 3MIHR) Bl Tl <d &
ar gH @ Ut BRI ?

(A) 5. T4, 2L (B) dafdds yrary 3ma

(C) fraa s Saure (D) 74 ®Ig &l

What do we get when we deduct personal tax and non-tax payments (like
income tax) from personal income ?

(A) G.S.T. (B) Personal Disposable Income

(C) Net National Product (D) None of these

Ife fhdl srefeaquen # q¥gall &1 A Al 8 Wl & 3R Icured ReRr &l
g I aRdfdd Mg # 7 uRads g ?

(A) ST (B) =g

(C) ®Ig uRqci el (D) 57 g &

If in an economy the prices of goods double and output remains constant
then what would be the change in real income ?

(A) Double (B) Four times

(C) No change (D) None of these

12



28.

29.

30.

A fH¥l Q9 BT ay 2020 H AHA NG SHUIG 1400 BRI AT Sl a9 2023 H

9eH 1950 IRIS Bl AT Al Adhdl TXe] UG ahIaId T BITT?

(A) 100 (B) 130

(C) 139.29 (<TTTH) (D) 31 ¥ B =l

If for a country the gross domestic product was 1400 crores in 2020
which increased to 1950 crore in 2023 then what would be the gross
domestic product deflator ?

(A) 100 (B) 130

(C) 139.29 (approx) (D) None of these

Ife Aifad Thd LT IAE Y B, IR aRAdd Ahol TEF ST y B

Thdl T SATE JABIfTd T BT ?

(A)§ X 100 (B)Z X 100

(C) XX x 100 (D) 374 ®Ig &l

2

If Y is the Nominal Gross National Product and y is the Real Gross

National Product then what would be Gross National Product Deflator ?

(A)§ X 100 (B)Z X 100

(C) =X 100 (D) None of these

QU Hod abid § Hd oI A BT S & 7

(A) GXT & (B) &b qou
(C) IaTesd I (D) T P =8

13



31.

32.

33.

In consumer prices index which prices are included ?
(A) Retail Prices

(B) Wholesale Prices

(C) Producer Prices

(D) None of these

a1 & Argd & o1 anfdies fafea o sweEerar 8 2

(A) Hifgw fafma (B) a¥q fafaa

(C) HreT e (D) reeT—agell

What is economic exchange without money as medium of exchange

called ?
(A) Monetary exchange (B) Barter
(C) Bargain (D) Swap

dF—ad & IeeT I GaT Bl A4 fFHwR iR Prel § 7

(A) 3T (B) 3T HeI WR WR

(C) &arsf &Y W (D) 395 ®ad (A) Td (B)

On what does the demand for money for transaction purpose depend ?
(A) Income (B) Average price level

(C) Rate of interest (D) only (A) and (B)

HeT & oy a1 &1 |17 {69 1ol a% W |aidd s8Rl & 7

(A) GATH TS & i TN (B) Gaiferh &TST &R rax TR
(C) Fimax = Fmin & 3R W (D) g4 @IS Tl

14



34.

35.

36.

At which rate of interest the speculative demand for money is highest ?
(A) At minimum rate or interest rmy;,

(B) At highest rate of interest rpax

(C) At difference of rmax- min

(D) None of these

M, + SIHER d9d ddl § gad STHY, fhga! aRkamer g ?
(A) M, (B) M
(C) M (D) M4

M, + savings deposit of Post Office Saving Bank, what is this definition

of ?
(A) M, (B) M
(C) M3 (D) My

g ST &7 uRuddar & eafer =g gt 8 ?

(A) FRT 1 (B) srafey <1

(C) s 1 (D) 374 ®Ig &l

Of which deposits the period/time of maturity is fixed ?
(A) Demand Deposits (B) Time Deposits
(C) Savings Deposits (D) None of these

Ro1d d 3ife sfear @ #ifa®d gfd &1 aRvT § o9 999 dRa & 2
(A) M4 (B) M3

(C) M2 (D) M1

15



37.

38.

39.

In the definition of supply of money of Reserve Bank of India which is

most liquid ?
(A) M4 (B) M3
(C) M2 (D) M1

el <21 & Hifgd UHROT B FYOT ST I RIT Hed © ?

(A) HIfg® MR (B) S=a wifdaremme qa1

(C) Tt a1 RS (D) Bt (A) v (B)

What is the total liability of a monetary authority of a country called ?
(A) Monetary Base (B) High Powered Money

(C) Total Money supply (D) Only (A) and (B)

faRad IUFIRT 3fR ARTRET M BT IUTd 9T HEaAr 3 ?

(A) 3T ST YgfT (B) srfaRaxd SuMiT ygfy

(C) ¥ ST wigfat (D) s Ig &l

What is ratio of additional consumption and additional income called ?
(A) Average Propensity to consume

(B) Additional Propensity to consume

(C) Marginal Propensity to consume

(D) None of these

STIRT el C=C+ cY § C o fovy & 71 &Y & ?

(A)C>0

(B) C &1 ReR AMHT ST &

16



40.

41.

(C) I8 Siig=aru & forg e Su9rT 8

(D) g7 @

In Consumption function C=C+ cY what is true about C ?
(A)C>0

(B) C is considered constant

(C) It is definite consumption for subsistence

(D) All of these

fyaer @ Reries 1=T it w97 ST © 2

(A) Fifd T8 IS RS ©

(B) U efereRer & I 99 &1 uefRid oxar ©

(C) I8 ¥hd =X SIE H URId- W Tl R &=ar g

(D) g7 @

Why is investment considered a constant I=i?

(A) Because it is exogenous factor

(B) It shows autonomous investment of the economy

(C) It does not depend upon changes in gross domestic product
(D) All of these

Ife Fgeie 0T wfasy d i &1 glg R APRAS J491d Srerdl 2 ol 39
T P ?

(A) HURT & qaia (B) drst

(C) gar (D) 57 g &l

17



42.

43.

44.

If public debt negatively affects the increase in future output then what
would it be called ?
(A) Wastage of asset (B) Burden

(C) Loss (D) None of these

1T, @Ry, AT SV BRIGAT B AP H AT W T JH1EG TS 2

(A) FPRIGTD (B) mifdaet
(C) sreuse ya (D) g+ |+l

What will be the effect of stopping programmes related to education,
health and poverty alleviation ?

(A) Positive (B) Adverse

(C) Unclear effect (D) All of these

gTH BIF AEGITD 9] § 7

(A) W=5 arg (B) &tep e

(C) T e (D) 37+ &

Which of these is public good ?

(A) Clean air (B) Public education
(C) National defence (D) All of these

HE @ SR BN S | /T 1iRd &= § #eg Aol © 2
(A) frasr (B) STHRT
(C) Frafa (D) 57 Big el

During depression what does welfare payment help in holding ?

18



45.

46.

47.

(A) Investment (B) Consumption

(C) Export (D) None of these

I FHT SUAIT Ugiky ¢= 0.75 81 O ARBR ATROT 0T Bl A &7 BT 2

(A)4 (B)3

(C)2 (D) 1

If the marginal propensity to consume is c= 0.75 then what would be the

value of government transfer multiplier ?

(A) 4 (B)3

(C)2 (D) 1

IE & faqell MR 4, AR grer 1 ge 2

(A) i@ — smara <0 (B) fat@ — smar@ >0

(C) i — mam =0 (D) s Ig &l

In foreign trade of products, what would be trade deficit ?
(A) Export - Import <0 (B) Export - Import > 0

(C) Export - Import =0 (D) None of the above

gell Ffaeel & foly Her @l od &1 & ?

(A) Y=C+I+G+X-M (B) Y=C+I+G

(C) Y=C+I+G+NX (D) waat (A) wd (C)
What is the condition for equilibrium of open economy ?
(A) Y=C+I+G+X-M (B) Y=C+I+G

(C) Y=C++G+NX (D) Only (A) And (C)

19



48.

49.

50.

51.

forg fageh faffay T g ¥ &<y d6 8%ey &xdl & ?
(A) ¥ faxel (B) uferaifdre feve
(C) 7= faffm == (D) 374 ®Ig &I

In which foreign exchange rate system the central bank makes
intervention ?
(A) Clean float (B) Restricted float

(C) Floating exchange rate (D) None of these

e ¥ B Ay <) Bl T8 = 2 ?

(A) Rs. 0.56 = 1¥ (B) Rs. 82.95 = 1%
(C)1.TK=Rs.0.76 (D) Rs. 50 = 1 Kg 3¢},
Which of these does not show exchange rate ?

(A) Rs. 0.56 = 1¥ (B) Rs. 82.95=1%
(C)1.TK=Rs. 0.76 (D) Rs. 50 = 1 Kg potatoes
T fafma <= &1 g fad gar g 2

(A) facelt ga1 @1 9rT 9 (B) faeft 7aT @ gfcd &
(C) facel @oma wR ¥ (D) ®ad (A) vd (B)

How is flexible exchange rate determined ?

(A) By demand for foreign currency (B) By supply of foreign currency
(C) Foreign price level (D) Only (A) and (B)

g TH W DI axgsll B S0l # T8 mar © ?

(A) @rer aere (B) o

(C) #Hrarged (D) farfepesn

20



52.

53.

Which of the following is not included in the category of goods ?

(A) Food articles (B) Clothes

(C) Mobile (D) Medical treatment

el e =fey al f[ATRIdmRll &1 QRT BRA1 U7 | I8 B [had IR0l
g7

(A) FETEET & F9d B (B) ATl & MU Bl

(C) AHERT &1 (D) ¥R ST BT

'If one wants good education then luxuries would have to be given up'
what is the statement an example of ?

(A) Saving resources (B) Wastage of resources

(C) Wisdom (D) Opportunity cost

T4 DI IR B Bl TARAT 8] § ?

(A) fT a3l &1 IcaTeA fhar SIg ?

(B) faral A H Il BT Icq1eA fhar ST ?

(C) a¥gall &1 Icured &Y fbar Sy ?

(D) U1 & g9 oY ?

Which of these is not central problem of economy ?
(A) Which goods must be produced ?

(B) In what quantity goods should be produced ?
(C) How should the goods be produced ?

(D) How to save money ?

21



54.

55.

56.

SIS YT dsh &7 ST &

(A) ITTEH FHIEGAT AT Bl (B) < & AR DI AT Bl
(C) SFgER AFTT P (D) 1+ |

What does production possibility curve show ?

(A) Production possibility set

(B) The amount of resources of the country

(C) Opportunity cost

(D) All of these

ST DI e ffe & favg avg 2 ?

(A) Fet Frefa (B) Bt TR

(C) ot ufcranfrar aeiR (D) reiegeRen H Hed WX
Which of the following is subject matter of microeconomics ?
(A) Total Output (B) Aggregat employment
(C) Perfectly competitve market (D) Price level in economy
ST B A sreferaven & T 7 ?

(A) 3nfde o

(B) e <=

(C) 9ISl &% Ud WRBRI &Fdh Bl ek

(D) g4 =l

Which of the following is characteristic of mixed economy ?

(A) Economic planning

22



57.

58.

(B) Price Mechanism
(C) Coexistence of public and private sector
(D) All of these

AT TRy Fad FHl AN DI Yfed IUAR RIS U | IT rfeydwer o

HIF W BT THRT B 7
(A) fT a3l &1 IcaTeA fdhar SIg ?

(B) 371 a3l &1 IUTe $hd b Sy ?

(C) 391 axgall &1 Iaura fbwa fofg fdHar Sy ?

(D) 377 ®1E e

'‘Basic health services should be made available free of charge to
everyone'. This statement is related to which central problem of the
economy ?

(A) What to produce ?

(B) How to produce these goods ?

(C) For whom these goods should be produced ?

(D) None of these

A3 srefegawen & e fharmami & = &1 MR &9 &=ar g ?

(A) STHIFIT (B) WRPR

(C) Serit (D) g7 \+t

Who determines the direction of economic activities in a mixed

economy?

23



59.

60.

61.

(A) Consumer (B) Government

(C) Enterpreneurs (D) All of these

Uoel T Tl H IR JTIwRIT § ARBR DI JHDT —

(A) P4 g3 © (B) w3l &

(C)Rer B (D) ¥Ha—99a =R gRafdd g8 2
In the last two decades the role of the government in the economy has -
(A) Decreased (B) Increased

(C) Remained constant (D) Changed from time to time
i § Afddsll & gagR &l g by emar g1 fbar Sirar & 7
(A) &fte 3 (B) THfte arefems

(C) el fa=a (D) 37 &g el

The behaviour of individuals is studied by which branch of

economics ?
(A) Microeconomics (B) Macroeconomics
(C) Public Finance (D) None of these

g4 DI guic UT DI Hel URHT & ?

(A) pix1+p 2x2 < M (B) p1x1tp2 X2 = M
(C) pix1tpx, =2 M (D) g7 &g el
Which of these is correct difinition of budget set ?
(A) pix1+p 2x2 < M (B) p1x1tp2 X2 = M

(C) pix4tpaxa = M (D) None of these
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(A) X - ufcresg (B) Y - uferese
(C) SUHIeRIT 3 (D) 374 ®Ig &l

. M 1 . M
In budget line xo= — - P- X4, what is — ?
p2 p2 p2

(A) X - intercept (B) Y - intercept
(C) Consumer income (D) None of these

63. T I I X4 P Hed H URTAT BT 8, Al dolc @l DI FT BT ?

(A) 5T a1 Y - 317 R Rer =l

(B) 95T ¥@T e ¥+ R IR SR

(C) 95Tc X@T oI 9+ WR QI T el
(D) 377 ®1E
If the price of only good x4 changes, then what happens to the budget
line?
(A) The budget line will remain constant on Y-axis
(B) Due to decline in price budget line will move to left
(C) Due to increase in price budget line will move to right
(D) None of these
64. SN dh AT—HA D Ul I~IdIax BIAT & Hifh AT URRATIAT &R B 7

(A) Rer (B) gfgHm
(C) BTAM (D) 374 ®Ig &I
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65.

66.

67.

The indifference curve is convex to the origin because the marginal rate
of substitution is ?

(A) Constant (B) Increasing

(C) Decreasing (D) None of these

R D DA AR IFD! ART BT T3 AT DI DI ash AT & 2

(A) |7 g5h (B) 3=IgAH dsh

(C) g5Te T (D) 4 ®Ig &l

The price of a good and its quantity demanded is shown by which curve?
(A) Demand curve (B) Indifference Curve

(C) Budget Line (D) None of these

U XRgw ART 9% © d(p) = a - bp S&f d = |7 & A3 &R p = o7 2| fhA
DHIAT W ART I BT ?

(A) T (B) %/

(©)b/a (D)a

In a straight line demand curve d(p) = a - bp, where d= quantity

demanded and p = price, at what price demand would be zero ?

(A) Zero (B) ¢/,
(C)Y/q (D) a

IrI B HIET T A BBl BT 41T g b 3R Bae s ?
(A) TR iR G ERIEER
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68.

69.

(C) &I TR 3R g 9T 3R (D) g% Rer &M

As a result of decline in price of tea, the demand curve will shift in which
direction ?

(A) Rightward

(B) Leftward

(C) Sometime rightward again leftward

(D) The curve will remain constant

SHAd AT 9 & Hed ART DI A FIT BRI ?

(A) 3 (B) ar=fr™

(C) 0<e,<1 (D) 37 ®I3 8l

For a vertical demand curve, what would be the price clasticity of
demand ?

(A) Zero (B) Infinity

(C) 0< ep<1 (D) None of these

U SRAATDR ATIRIAT ART db p . = € & & 475 W ART Bl A BT A
FIT BRIT?

(A) e =1 (B)e>1

(C) 0<e<1 (D) g7 &g el

For rectangular hyperbola demand curve p.q=e, what is the value of

elasticity of demand?

(A) e =1 (B)e>1
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(C) 0<e<1 (D) None of these
70.  SUHIGT Y H ghg I b R & a¥qgsi @ A H RmEe Bl g ?
(A) =T 9] (B) faenfrar a¥g
(C) frrmreertia a%g (D) g wf
Due to increase in consumer income, the demand for which type of
goods declines ?
(A) Normal as goods (B) Luxury goods
(C) Inferior goods (D) All of these
71.  $TH B9 aRad! NTd T8 § 7
(A) =4 (B) 7o
(C) == |red (D) farstett
Which of these is not variable input ?
(A) Labour (B) Machine
(C) Raw Material (D) Electricity

<

72.  3UPIal # fhg mrd & gRad= fhar i1 Gohar g ?

(A) IR STd (B) ReR 3mra
(C) w=i (D) (B) Ta (C) <1
In which inputs changes can be made in the short run ?
(A) Variable inputs (B) Fixed inputs
(C) Machines (D) both (B) and (C)
73. AN ST & AT 100 & AR T @1 AT 10000, AT AT IaTE AT BT 7
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74.

75.

(A) 100 (B) 10000

(C) 1000 (D) 574 ®Ig el

If the quantity of input is 100 and the quantity produced is 10000 then
what would be the average product ?

(A) 100 (B) 10000

(C) 1000 (D) None of these

IT BRPB 1 B Xq SHISAT T BT 40 THIZIAT UG Bl & AR Xq - 1

gHISIT 9T BT 30 SHISAT IS Bl & df X4di SHhIs bl JHT IATGH
FT B ?

(A) 40 SHTS (B) 30 S&TS

(C) 10 g1 (D) 70 gbrS

If x4 units of factor 1 produces 40 units of output and x4 - 1 units of inputs
produces 30 units of output, then what is the marginal product of the x;™"
of unit of factor input ?

(A) 40 units (B) 30 units

(C) 10 units (D) 70 units

3Td ReR ANTA dF &1 9T MMBR BIAT & 7

(A) STEAATHR SfTaRTeTd (B) 'U' 3R

(C) L' e (D) 377 @I e

What is the shape of average fixed cost curve ?

(A) Rectangular Hyperbola (B) 'U' shaped
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76.

77.

78.

(C) 'L' Shaped (D) None of these
aRadt sud & form # a7 g © ?

(A) IH1T iR 3iFd ST YH ¥ °ed ©

(B) HHid @R @i ad ST U AT 9 ded ® fh ged &

(C) i iR iRIa STe U AT d& Ted 8 fR 98d &

(D) $T¥ @I =TeT

What happens in the law of variable proportions ?

(A) Marginal and average output declines from the begining

(B) Marginal and average product rises upto a limit then decline

(C) Marginal and average product decline upto a limit and rise thereafter

(D) None of these

UA T Ufhel ¥ fhad Uap 1 Jrguiics uRadd fear Sir g 2

(A) T e (B) URedl e

(C) Rer erert % (D) g4 ®Ig &l

What is changed in equal proportion at the same time in returns to scale?
(A) All resources (B) Variable inputs

(C) fixed inputs (D) None of these

@ ReR ANTT a% x- 36T & ANfAS =1 Brar 8 2
(A) AN (B) igad
(C) ORI ST aTelT (D) 574 ®Ig el

What is total fixed cost curve relative to x - axis ?
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79.

80.

81.

(A) Parallel (B) Vertical

(C) approaching (D) None of these

3igd RerR &WTa 9% &1 <l a1 8l 2 2

(NERISED (B) =@

(C) FoTeHD (D) 4 ®Ig &l

What is the slope of average fixed cost curve ?

(A) Positive (B) Zero

(C)Negative (D)None of these

Ui Uil BH @] HIF YT Bl ST Hdlg [hddh aRIaR BRI ?
(A) I p & IRER (B) i q & a_TeR

(C) &9 T & aRTaR (D) 374 ®Ig &I

What is vertical height of price line of perfectly competitive firm equal to ?
(A) equal to price p (B) equal to output q

(C) equal to profit 1 (D) None of these

gl ufcruel] B @ fory Aid ST = i &ITH = ?

(A) o4 (B) o
(C) Bt «rTa (D) $T¥ @I =Tl
For a perfectly competitive firm Marginal Revenue = Average

Revenue=gap?
(A) Profit (B) Price

(C) Total Cost (D) None of these
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82.

83.

freft ufoeedt wd & ufq g1 a9 &1 T fe TR W @) Sl § 2 Sief AR -
AT M, AC - 3Id @I, MC- IHid R T MR - i ST 2 |

(A) I TR AR - ACH (B) I WR AC-ARH

(C) Hger ©R MR - MC ¥ (D) 37 ®I1g el

Using which variables is the per unit profit of a competitive firm
calculated? where AR is average revenue, AC is average cost, MC is
marginal cost and MR is marginal revenue.

(A) At equilibrium point by AR-AC

(B) At equilibrium point by AC-AR

(C) At equilibrium point by MR-MC

(D) None of these

$TH DI ATBTA H I dal fdg & 7

(A) 3ET ANTd b B =YAdH g

(B) sfa uRadil arTd &1 =g=1aH fdg

(C) ¥HId AT dsh &1 FAaH fdg

(D) $T¥ @I =&l

Which of these is shut down point in short run period ?
(A) Minimum point of average cost curve

(B) Minimum point of average varibale cost curve

(C) Minimum point of marginal cost curve

(D) None of these
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84. WM oM &I Ry § wH &1 fha=m arF g ?
(A) I afefe < (B) AT—3rerT @1 Rerfa
(C) QT Y Uil & aRTER (D) 375
In state of normal profit, how much profit will a firm earn ?
(A) Zero economic profit (B) State of breakeven

(C) Equivalent to returns foregone (D) All of these

85. foefl uferegell B @I areq ®iel # BN 81 W8 & | I8 e 99g 2 7
(A) 519 AR>AC (B) ST AR>MC
(C) 519 AR>AVC (D) STd AR<AC

A competitive firm is experiencing loss in short run. When is this

possible?
(A) When AR>AC (B) When AR>MC
(C) When AR>AVC (D) When AR<AC

86. fhefl B &7 sreumIele gfitf g% T Brar & ?

(A) 3iFd IRTdT SFTT a5 & <[AaH g 9 SW WA AR dsh

(B) {HId &I dsh

(C) 3iId @NTd dsh

(D) $T¥ @I =Tel

What is a firm's short run supply curve ?

(A) Marginal cost curve above the minimum point of average variable

cost curve
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87.

88.

89.

(B) Marginal cost curve

(C) Average cost curve

(D) None of these

g Sd AT % Fdad @l {5 W fd N 9% & i 81 dl BH Bl
AT BT ?

(A) =T 4 (B) T ST

(C) =rer (D) 4 ®Ig &l

If the average cost curve lies below the average revenue curve then what
will the firm earn ?

(A) Normal profit (B) More than normal profit

(C) Loss (D) None of these

gfcf @1 Jr3T | gfoerd uRads + qea # ufoerd gRad = ?

(A) FRT &1 HHT Al (B) gl @1 @a <

(C) gfct ash 1 Haeierar &1 A9 (D) (B) va (C) a1

Percentage change in quantity supplied + Percentage change in price = ?
(A) Price elasticity of demand

(B) Price elasticity of supply

(C) Measure of responsiveness of supply curve

(D) Both (B) and (C)

AT P1X1 + PoXo < M BT RIT BT ST & 2

GVEECER Il (B) ge @1
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90.

91.

92.

(C) g5t e (D) 57 ®ig el
What is the inequality p1x; + p2x2 < M called ?

(A) Budget line (B) Price line

(C) Budget set (D) None of these

gole NGT &1 Jaurdr (@rd) foha aRwrfd g & 2

(A) -p1/p2 (B) -p2/p1

(C) +p1/p2 (D) 37 &g el

The slope of the budget line defined by which of these ?
(A) -p1/p2 (B) -p2/p1

(C) +p4/p2 (D) None the above

Teh THTEIHRI BH & o0 avg o1 diad b R R oxedl § 7
(A) TG @ A T AT W (B) 98 dWd WIdREAT &
(C) fa=mas = (D) 3T @IS el

On what does the price of a good depend for a monpoly firm ?
(A) The quantity of good sold (B) He is a price taker

(C) Advertisement (D) None of these

IR Hded 9 fbe &1 =R &1 feRor g g ?

(A) Teg, =T (B) e, o
(C) g1, o™ (D) 7 P =i
Which two variables are determined in market equilibrium ?

(A) Price, quantity (B) Price, cost
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93.

94.

95.

(C) Price, profit (D) None of these

AT B BT GIGIR H FT f¥HapT © ?

(A) 315eT T BT # gRTH FR <aT &

(B) A wnfid &xarl §

(C) arfergfc a1 Rerfar § @dl 9 & &H_ar ©

(D) g7 @

What is the role of 'Invisible hand' in the market ?

(A) Invisible hand brings about change in price

(B) Establishes equilibrium

(C) In a state of excess supply if reduces the price
(D) All of these

Al qed (pe) A HH Hod WR T BN 7

(A) ST (B) aifergfct

(C) ®1E uRad= =& (D) 37 ®I1g el
What will happen at a price below equilibrium price (pe) ?
(A) Excess demand (B) Excess supply

(C) No change takes place (D) None of these

i AFT 96 ReR 81 3R gRT g <1l Ride oRar 2 o 9% & qod 4
aRge 8T ?

(A) Fea Rer <& (B) 7o qf& &h

(C) Tea e (D) 57 IE el
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96.

97.

98.

If the demand curve is unchanged and the supply curve shifts rightward
then what will happen to the price of good ?
(A) Price would ramain constant (B) Price will rise

(C) Price will decline (D) None of these

afe gl wal & BFd <gAaH Nd dFTd & S_TER 8 Al 9T BRI P

(A) AT &7 I (B) %A & Ud9

(C) 7 wHl &7 yder 3R = ®AT &l afetfod (D) 3749 BIg e

What will happen if the price of competitive firm is equal to minimum
average cost ?

(A) Exit of firms (B) Entry of firms

(C) Neither entry nor exit of firms (D) None of these

BISTETSTRT B FART & I~ M1 8, T pe = e oI & IR py= BIg
Seaaqd iR amd g ?

(A) Pe > P1 (B) pe = p1

(C) pe < P (D) 377 Ig 7

When will the problem of black marketing arise if p. is the equilibrium
market price and p4 is some ceiling price ?

(A) Pe > P1 (B) pe = p1

(C) pe < p1 (D) None of these

UhTHNT BT 3TTd GYIT dh STRT T heoldl & 7

(A) 9fti @ (B) #rT ap
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(C) o™ T (D) 57 ®ig el
What is average revenue curve of a monopolist called ?
(A) Supply curve (B) Demand curve
(C) Profit line (D) None of these

99.  UBIYBRI BH &I gad A H 9a+ &I Aoy {Hd HHd R §9d 2 2

(A) = HIFd W) (B) BH BHT W
(C) forlt ft & R (D) 574 ®I$ el

The decision of Monopoly firm to sell a large amount is possible at what

price ?
(A) High price (B) Low price
(C) At any price (D) None of these

100. ST9 WHIT QUG I BT & o1 ol QUG 9T BIell 2 2

(A) 7= (B) waiferen

(C) T (D) 3775 P13 T

When marginal revenue is zero then what is total revenue ?
(A) Minimum (B) Maximum

(C) Zero (D) None of these

Hus—9 / Section-B

o SN 93 (Short Answer Type Questions)

U AT 1 W 30 ofg STNg U 8| fbel 15 U P SR < | UP U & U 2
3 uiRa €1 % SR 40-50 gl H forxd | (15x2=30)
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Question no. 1 to 30 are Short Answer Type Questions. Answer any 15
questions. Each question carries 2 marks. Write your answer in 40 — 50 words
each : (15x2=30)

1. SRV Afed |ar & gRIfa & | 2
Define Services with example.

2. IRigaReT &I qF Bl THRT fordd | 2

Write two central problems of economy.

3. SIS GHTIT dp F=Ifd B | 2

Draw production possibility curve.

4. P goIc I@T I I AT AT © 7 2
What does the slope of a budget line show ?

5. X-31& UR TR TS 9K DI BAd H HHI W golc N I RTBAT 8?2
What happens to the budget line when the price of the good shown on
x-axis declines ?

6.  AMId URRATIAT &R BT GRATET PN | 2
Define marginal rate of substitution.

7. AN 1 from SeTerv digd i o | 2
Outline the law of demand with suitable example.

8. fhd oxg & dMa A P A IR BN ? ISER 3 | 2

For which goods the price elasticity of demand is zero. Give example.

9.  SUYdd I&IERYI §RT UREd AT Pl JGLRON DI Held § FHR | 2
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

In brief explain the concept of variable cost with suitable examples.

AT IUTE BT TVMT BT G [T |

Write the formula for calculating average output.

UBTAT el SN &1 & ? D I J TSP © °

What is short run total cost? what are its components?

Hel [N &I & ? FADI UM DY B © 2
What is total revenue? How is it measured?
AMT AT HT aR9IRT & |

Define normal profit.

IR & Rerfy &1 Ry grr <o |

Show the state of excess supply using diagram.

i A sk g @iy @ 4 g wdE 8 2

What is the relationship between marginal revenue and total revenue?

ST & FARAT H F fhel &1 a1 R for |

Of the factors of production, write definition of any two.
YaTg °R /uRad @ 8 §°

What are flow variables.

ISTTd aRail &1 IR SQTER < |

Give four examples of capital goods.

Feacd] g% & 39 9T |qHSI & 2
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20.

21.

22.

23.

24.

25.

26.

27.

28.

What do you understand by intermediate goods ?

IS S A9T ST § 2 SA1eRY & §RT W DN | 2
How is value added measured? Clarify with example.

aeq R gomel &1 <1 Bt @1 e 2
Write two shortcomings of barter system.

qaT & & Dl BT ey H quiF BN | 2
In short describe two functions of money.

T B gl B AReran gk ford | 2
Write simplest definition of money supply.

foell fdd & 9Rg | MU T FHA 87 I§ fhaR AR a=eft 8 7 2

What do you understand by credit of a person? On what factors does it

depend?
IR R4 d& a1 sifcm Skorerar «i sar Srar 27 2
Why is Reserve Bank of India called the lender of last resort ?

ST Bl bl TRYTNT B | 2

Define Consumption function.

R &g T[0T FT § ? 2

What is autonomous expenditure multiplier ?

AAGID a%] b al oM ford | 2

Write two benefits of public goods.
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29. RPN GC H fhA UHR kil &I S Fhdl g 2 2
How can the government deficits be reduced ?

30. YR °Iel T 7 ? 2
What is trade deficit ?

e Sa9F 939 (Long Answer Type Questions)

T T 31 ¥ 38 41" IR YA 2| fhgl 4 Ul & SR S| UG b oY 5 30®
FeiRd € % IR 100—120 T&ai # < | (4x5=20)

Question no. 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. Answer in 100-120 words each.

(4x5=20)

31, IdIgT B ey AR bl fId==T HIfTU | 5

Discuss the central problems of an economy ?

32.  Ifa IUHIGT Bl 3MY IR a3 B HIAT GR[HT 8 ST Al AT goic WS AT

BRI 7 = gRT 99 | 5

If consumer's income and the price of goods double then what would the

new budget set look like? Explain with diagram.

33. ol NI, HHId AINTd Ue ARId oANTd @l FRAT Bty | 5

Explain total cost, margingal cost and average cost.

34,  Iegad MEIRA BHd & AR Iudd IQTER0T §RT HITIY | 5
Explain ceiling price with the help of suitable example.

35.  AGANRID §6 b Bral BT guiF B | 5
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36.

37.

38.

Describe the functions of commercial bank.

FIT ATaoI-d 0T I8l 91 AT 8° AR D \>ﬂQ| 5

Has public debt become a burden ? Explain.

T fafy av gavern ¥ Ay g) &1 fgiRer &9 gar § °? 5

In flexible exchange rate system, how is the exchange rate determined?

Udh g1 a5F fdegaee # g &7 ey 9 gar 2 ? R 9 <9l | 5

In a two sector economy, how is income determined ? Show with the

help of diagrams.
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